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General Instructions:

L
2.

All questions are compulsory.
The question paper consists of 31 quest@ns“ dwxded into four sections A, B, C and D.
Section-A comprises of 4 questions of lmark each; Section-B comprises of 6 questions

- of 2 marks each; Section-C comprls@pf 10 questions of 3 marks each and Section-D

comprises of 11 questions of 4 marks;each.
There is no overall choice in this gutestion paper.
Use of calculator is not permitted:

U -37 / SECTION-A
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Question numbers 1 to 4 carry one mark each.

(14641)025 T HH @ FHISTC | 1

Find the value of (14641)0-25.

R p(x) = (r— 1)(x—2) + (2—x) (3— ) F1 9T A | Ll
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Give the degree of the polynomial p(x)=(x—1)(x=2)+(2-x) (3—x)
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In the given figure, O is the mid-point of AB and ZBQO=/ZAPO, then ZOAP is equal to
which angle ?
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What are the coordinates of the point (s) which lie on positive direction of x-axis and 5 units
away from the origin ? ey
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Question numbers 5 to 10 carry two marks each.
5 1 2
aftz = 0.064, %, @ (’—]3 1A T Ff
z
; 8!
If z = 0.064, then find the value of[l}* . 2,
z O
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6  TUEES HNY: 332+ 11x —4 . 2
Factorise : 3x2+ 11x —4

7 o P, Q SRR forelt Y W i faig feae € 9o Q foigadl P 3R & o= # foom €,  fag =i 2
fF PQ+QR=PR ¥ (2T 2mpfa) |
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If P, Q and R are three points on a line and Q lies between P and R, then prove that
PQ+QR=PR (see figure). ;
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afz BE=CF ¥, 1 g %I i AABC T wmfgarg st 81
From the vertices B and C of a AABC, perpendiculats BE and CF are drawn to the opposite
sides AC and AB respectively. If BE=CF, prove that AABC is isosceles.
.9 SerE WS W A@4, 5) W ofEd @t Wy @, 3@ fig ¥ ox - e sl 2
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Plot A(4, 5) on the graph paper. Also, plot the reflections of this point in (] 0.
* x-axis and y - axis. %]L,]
e
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If the sides of a triangle are 26 cm, 28 cm and 30 cm, find the area of the triangle. 5%,
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Question numbers 11 to 20 carry three marks each. 3 YA X/, Q\ng,
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Simplify : L 486 — .1 Jz
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Rationalise the denominator of - ot
ationalise 2+.‘/§ +.J_
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Find the product of {a = l)( lj[a P -1-1(‘34 ¥+ % J using a suitable identity :
a
14 To IUYE HEHE B SHEN HR gL A FrefE (—28)3 +(9)3 + (19)3 3

Using a suitable identity, evaluate : (—28) + (9)+(19)
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Write.Euclid's Fifth Postulate. Does this postulate imply the existence of Parallel lines ?
Explain.

16 et ® @1 1,2A H GHGESE € 9° I W HE g BRI BP 9 BQ, fig B Y Fw A @t yome 3
R &S M e 1 giee R - (i) AAPB =AAQB R (ii) BP=BQ |
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In the given figure, line [ is the bisector of an angle £A and B is any point on [. BP and BQ are
perpendiculars from B to the arms of £A. Show that (i) AAPB =AAQB and (ii) BP =BQ.
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Three lines AB, CD and EF m~¢. at a point O, forming angles as shown in the figure. Find the values of
X, vy, zand u.
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If two interior angles on the same side of a transversal intersecting two parallel lines are in the ratio 3 :
2, then find the greater of the two angles. i

ARG S W, Th 69g P2, 4) F saifigd FIfTQ) 379, x-3987 3 y-37&1 § P o Wl #1 3
Fifigd FIFTT a1 58 HAT: Q 3R R ¥ =uad ®ifg| 39 Wb 94 A4S PQR & YR I 9H
el

Plot a point P(2, 4) on the graph paper. Now, plot reflections of P in x-axis and y-axis and
denote them as Q and R respectively. Name the type of triangle PQR so formed.

=q¥s ABCD & TR & TF B F1 &het 7 i, 5 AB = 35m, BC = 75m,CD = 60 3
m, DA = 66 m 3R ZCDB = 90°® |

Find the area of a quadrilateral field ABCD in-which AB=35m, BC=75m, CD = 60 m, DA
= 66 mand £ZCDB = 90°. >

WFUs- [/ SECTION-D

YT HEA 21 W31 H U h 4R el
Question numbers 21 to 31 carry four marks each.

0.3178 FI p/q % T H HH HITY, el p 3 q TiH € WM q 207 4

- Express 0.3178 in the form of p/q where p and g are integers and g # 0.

3 g1 Ul gemed = fofan, fome - 4
(i) ¥R TH FEHE G@ gl :
(i)  AFT U e gem v

(i)  TUH U Uit S E

http://jsuniltutorial .weebly.com/



(iv) TawsH o sfdy semn e
Sirg off Fifeg |

Give an example of two irrational numbers whose :
(1) difference is an irrational number

(ii)  sumis an irrational number

(iti)  productis an irrational number

(iv)  division is an irational number

~ Justify also.
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Ife 9gUe 5x° +4x2—31x +a, x—2 ¥ Yoiaan fawifea &, @ a & 9H 9 FAQ1 380 FET A
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If the polynomial 5x3+4x?>—31x+a, is exactly divisible by x—2, then find the value of a.
Hence factorise the polynomial.

ﬁﬁx+%=6%,??lx4+i47ﬂﬂﬂ3rﬁaﬁml
X ¥

If x+ l =6, find the value of x*+ —1—
x x*

g x+ 4 FGIE 13 — 22 — 14x + 24 F1 T TIFGE &, 0 IUH 37 [UHEE F1d Hifeg |
If x+4 is a factor of the polynomial x> —x?—14x + 24, find its other factors.

qfe x=2—y 8, 0 TR FE T 6xy +2—8=0% |
If x =2 —y, then show that x3 + 6xy+y3—8=0.
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Rehman and Prakash contributed equal amount towards Prime Minister Relief fund. Prakash and

Rahul contributed equal amount towards Prime Minister Relief fund. If Rahul Contributed 500 how
much Rehman contributed ? What value they all are exhibiting by doing so ? Which Euclid Axiom help
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in reaching the correct answer ? State any one more Euclid Postulate.
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"A square is a polygon made up of four line segments, out of which, length of three line segments are
equal to the length of fourth one and all its angles are right angles".

Define the terms used in this definition which have been highlighted/underlined.

afg < TR st @ s e wed € @ fag wifsg e < e & aafgursi & <4
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If two parallel lines are intersected by a transversal, prove that the bisectors of two pairs of
interior angles form a rectangle.
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50° xl 30°
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In the given figure, find the value of x, if AE is the bisector of angle A of the triangle ABC and
ADLBC.

50° 307

Prove that the sum of three angles of a triangle is 180°. Using this result, find the value of x 4
and all three angles of triangle, if the angles are (2x+7)°, (2x— 25) ® and (3x —12)°.
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